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He challenged him — M2

Overview

nww 27 resolved the query of Xi°1 12 X117 27 (from w"2 YW wWwA77) that 320 7w °na
are PRXMY YR, 1277 responded that there is a Xn>92, which states differently that
7237 Y SN2 are not PRI Sx31." The xm3 answered that it is no contradiction;
according to w" it is PR¥M? P8\ and according to the 1327 it is not PRXM? PRM. Our
moon discusses the question posed by 11277,

= PNSND TN IRIN MY 1IIRY N3Y N12IN 29Y Y123 5H°2 999 2INPT NOYON 2wy999
The explanation is that the 72°n°X is from the end of the Xn»72 which states,
‘one who sells a house in a 727 59 >n2 will prove (that even though he is X
71, nevertheless) he is not PRI DRI BRIN 7997, not as nww 27 resolved.

nvoIn asks:
= PIYNY 2297 NONNI NINN NI 70 NnD*T 3119):\’) 92499 7999 YNNI 9NN ON)

And if you will say; what is he asking on w''9, perhaps this last 8n%»92 (which

states that 727 Y °n2a are not XA YXA) is in agreement with Py»w ' -
- PRYNY ININ TRIN MY AIN 59Y SN 532 9999 NPT KM

And that which was said in the previous Xn>12 (from w"2 5w wn7») regarding
737 Y on2 that he can be PRI YRIM BRIM W, there is no contradiction, because the

first Xn>>12 which states regarding 7117 >9Y °na that PRI P81 -
- *HN% IR DN WITPNA NP 19 5397 9N3 1999

! This latter Xn*3 states that we require the P09 of X3 X3 aR (in v2,15 PMpPna] Xp™) regarding a ANAR 77w WIpn that
the owner can be PR¥I? 2R 2R M2, for without this 105, we would derive though a \"'p from a1nK 77w 721 that
he cannot be 1"X¥n? 2811 581 M7, The Xn>12 continues that seemingly we can refute this 1" since a InnIXR 77w 120 is
‘weak’ for he cannot be X1 it immediately (he has to wait two years), however a I1nX 77w wTpn is ‘stronger’ since
he can redeem it immediately. The &n>12 counters that this 837" can be refuted from ;71 ¥ °na, which is 71 28
and nevertheless he cannot be X317 X111 2R3 M7, Therefore the (initial) 1"'p from 71X 77w 72 is valid, and if not
for the P105 of X3 %X ok we would have thought that 71X 77w W>7pn is not PRIA? YXIN YR 7. In any event this
X132 states in the refutation from 701 »y °n3 that 7"'v31 is not 1°X¥1? 7R3, contradicting the answer of nww 1.

? See also 2°n°K 7"7 >"wA. See footnote # 1. The word w7 (usually) indicates that Moo is negating an alternate
interpretation. A possible alternate is that the logic of w"1 is that if 15 ¥717 in one aspect (like by 11"¥2 that he has
only one year to be ?X1), so 1> 719 in another aspect (that 1X¥n? YR1); however the logic of the latter Xn»91 is the
exact opposite that if 11> ¥117 in one aspect it should certainly be 15> ¥717 in another aspect. The advantage of this
interpretation is that nvo1n would have no question. However nooin prefers his interpretation where the
contradiction in a ruling is clearly indicated. See (717&7) X"w7nn.

* A marginal note amends this to w1 (instead of T1w»w *27) and ‘opens up’ the abbreviation to read, nww 21.

* Once we know that a IMnX 77w w*Tpn can be PRI HX1, it follows that 7m0 > N2 can also be 1PRIAY 2R3 [0V is
more similar to 1R 772 W>7pn (for both are 7°n %X and are not 9212 2°%¥2% 1n), than to ANAR 77w 991 (which is
not 7°n HRA1 and is 92172 @9¥2b nn), therefore we derive 73211 ¥ °n2a from ANNR 37w that it is XYM R3]
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That is true after the ;770 added the rule of 1RXAY 2R by a AuAR 77w wWITPR

from the P10 of R3" X3 aN -
= HN) ON) ON AN XY ON 299910 PRISND IRIN HNIN NI 1INT 9INPT NN 70 VAN

However this latter Xn>12 which states that by 7117 >7v °na he cannot be m»
PRI DRIN DRI, is discussing what the ruling would be if %X3° 83 ax would not

be written (so we would not [yet] know that TR 770 W>7pR is PRYA? PRI) -
- 5595w 9599 99N 3193 9971

For indeed the Xn>72 stated initially, ‘for I would have thought’, etc. without the
P09 of DX HR3 aX that W Tpn is not PRIA? YR

In summation; Mooin asks that there is no contradiction between the two nin>932. The latter
Xn°>12, which stated that n"vya are not 1R¥12 Y81 is based on the assumption of the X" that w>7pn
TNNR 7Y is not PR¥MY 9XA1, however the former X712 which states that 1"va is 1PR¥MY 9RA1 is
based on the conclusion that nR 772 W TPR is PRYMY PR3, so the same applies to 1"va.

N1B0IN answers:
- HNI HN) DN 923 23197 9NaY HINN 295 YN RPN NVOY Y3 199 ¥RYUNT 1Y Y

And one can say that it seemed to 17"277 that the entire discussion of the latter
Xnm2 is valid even according to the conclusive truth that ®X3 X3 2R is actually
written and nevertheless that Xn12 said that 1"v2 is not X¥A? 9831 (even according to the X1pon).

mdoINn proves his point that the Xn727 NV Y is even according to the Xpon:
- SN NPRY 1N NOOY 93 VDI INNN 97 INY INT

For if it were not so (but rather the entire discussion of the X172 is hypothetical [if
DX» X3 oKX was not written]), why mention this whole discussion which is baseless -

= 992Y 7aY1 N Y VPIAY K8 MN
The Xn>72 could have mentioned a Y''p? from ¥''Y to explain why a annR 77w WPy is

not PRYI? HR1. Now mooin explains the 1'p from 3"y -
- 7100279 PRENY TRIN TN MY 1R 197 1PN 92993 RSP N NDOW 93y 13y NN

What if by an ¥'"'y whose power is strong that he is goes free on %2y, but

> Indeed if we do not know that 7MAR 770 W>Tpn is PREAY 98N (and in fact would have assumed that it is not 9xx
1°RY17 [on account of the MR 77w 75mn 1"P]), we would have also assumed that 7237 W °n2 is also not PRXTY HRA
(from the same 1"P) or because 7M1 *7Y °n2 and 1R 77W W>7PH have so much in common [see footnote # 4].

% See footnote # 1. The X012 is attempting to explain why we need the P09 of X3 X3 o to teach that a 7172 w7pn
TR is 7RYMY HR1, for otherwise (without the P109) we would derive through a 1"p from 10X 77w 19 that he is not
RYM? YR, and if you attempt to refute the 1'p (by saying 13 719> and w12 ¥y177) we can respond with a m°31 from
n"va. However there is no real m°31 from 11"v2 since in fact 1"va is 1Xxn? 9831, Why go through this whole charade,
when there is a simpler way to explain the need for PR3 X3 OX, as MooIN continues to explain.

7 Previously on this Ty where nww 27 interpreted the 105 of %831 (in 1,75 [772] X1P™) that PR K9 1210 XA
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nevertheless he is not X217 YR DR 79 as the X3 just stated previously, so -
= ©2)7399 NPYNNN NYNN NN 29 AN ON N YNIY WITPN

R 77w wetpn whose power is diminished, for when %21° comes it is not

redeemed, but rather it is divided amongst the 23175 of that “w» -
- PRYNY IR IRIN MY PRY 17 999N

Is it not justified that he is certainly not PR3 DRI DRI 795,

mMooIn now explains the advantage of this 1" (over the 1"p from AR 77w 700):
- Sy1omy 799919 XD AT 992N Y b

For on this 1''? we cannot refute it at all; so why not use this 1"p when in truth the 1'p

from 710X 77w 727 can be refuted since the 1°21° from 11"V is incorrect according to the RXipon.
- 79835 YN ON AN5T 1N NNIND 9Y N 999913 N9 INNT RVIYI NIN

Rather it is obvious (in order to avoid this [embarrassing] question) that this 1551
from 1"y °na (that it is not PR %X3) is valid even according to the true
conclusion after ®X3> X3 aR was written.

nooIN asks:
= 993y 7a¥) 9N D IND VP RY INIPN DIPN I 9NN ON)

And if you will say; notwithstanding (that the 1"p from amMnX 77w 221 is valid
[since the 31 from 11"V2 is true even according to the Xipon]) but why not cite

this Y''? from ¥''Y which still has an advantage over the 1"p from AMAR 77w 00 -
- 1995959 191 799909 XYY 119
Since we cannot refute the V'p from v"y at all?!

N1B0IN answers:
:q95mY 29Y X1y HaTun nTYT MY v

And one can say that it is preferable for the Xin of the Xn»12 to derive the rule

8 On the 1"p from aMINR 77w 127 we were able to ask, 7o PRXD W12 YT 19w AUAKR 37w 1002 an (but by 37w wrIpn
TINR it is T 9RYM2 2 19°), and we needed the m°3v from n"va (which [seemingly] is not true according to ndOIN
question). However on the 1"p from ¥"y we cannot say M2 y77 for an ¥"¥ is also 71 X832 1113 719° just like a w>Tpn
AR 77w,

? Therefore according to the latter X092 which maintains N»X7 X2°9X that 1"va are not XXM Yxx3, there is a 11 to
uphold the 1"p from 71AR 77w 7121, so there is nothing wrong in utilizing this 1"p.

19 Regarding the 1"p from 7nAX 77w 127 we initially have a X27° on it (that INAX 77w 72 is D Y7 concerning
7o 9837 and TIIR 77w WUTPR is 70 PR7 M2 19°), and we have the m°31 from 1"'v2 to remove the ¥37°0. However by
v"y there is no X270 at all; the 1"p is that much ‘smoother’ (it is X777 X717 instead of *nann R717).

' See “Thinking it over’.

12 This answer is valid only if we assume that the m°51 from n"va is nR even XiponT X2°HX; however if we assume
that the 31 from 17"v1 is only according to the &"171, then obviously it would be preferable to derive the 1"p from v"y
which is a true 1"p than to derive it from 7R 77w 721 which requires a fictitious 17°31 to support it.
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regarding a INNR 7T W IPR, from ANNKR 77w 101 (since they are both involving a 77w),
than to derive the rule of 7R 77w W 7Pn from v'"y, which is not a 77w at all.

Summary
The fact that the Xn>>72 did not utilize the 1" from ¥"v, proves that the 1°21 from

n"v2is valid even according to the Xipon.

Thinking it over

Moo answers that the reason the 1"'p is made from 71AR 77w 75, rather than from
"y, is because A 19 X7y A7wn 77w."° However we cannot derive 77w wTpn
R from ANAR 77w 1217 alone for there is a X270 (of 121110 ¥717) and we need the
21 from 11"¥2, so it turns out that we derive it from both 77w and n°3, so why does
MvoIN state 77WH 77w, when it is really n°21 77wn 77w? Additionally we find in the
X773 later that we cannot derive 1R 77w w*7pn from the MW 7% of ANAR 77w 0M
and 11"¥2 unless we combine it with ¥"y, so since we need ¥"¥ anyway, why do we
not make the 1"p initially from ¥"y and there is no need for a mws 73?2 '*

13 See footnote # 11.
4 See x"wm and w"w.
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